iho ?
1. What do you have to do when a passenger has no breathing *

(A) Start CPR immediately

(B) Put the victim in the recovery position
(C) Continue with the breathing check

(D) Count pulsations

w9 fodt a6t = 9w T on @D R wn FA K ?
(A) Ta WdaR g&F: o
(B)ﬁ%ﬂﬁﬁﬁﬂlﬁmﬁlﬁ |

(C) WE-% W= 9K &

(D) wss+t =1 fird

oooooooooooooooooooooooo

2. Cleanliness, physical exercise, rest and sleep are a part of

(A) Hygiene (B) Social hygiene
(C) Personal hygiene ¢ (D) None of these
R, R A, SH 3R g e 1 fee &)
(A) =M (B) Wmifse wa=sam
(C) =afirmma wr=oa (D) ¥H | = =

TBC : TPTCO-23-BC—C 2



3. Oncology is the study of :

(A) Skin (B) Tumor

(C) Teeth (D) Eye

sTecfan frge stvem s ¥ 2

@) =twm (B) R

(C) &t = | D) aifaEi @1
4. Goitre is caused due to the deficiency of :

(A) Potassium | - (B) Calcium

(C) Vitamin C ' ' (D) - Iodine

a1 I feaet wﬂ Qo T ?

(A) referm | (B) hfezram

(C) Frfr C (D) WEER «
5. Grant of conductor’s licence is provided under which section ?

(A) Section 29 (B) Section 30

(C) Section 31 . (D) Section 32

FTAA F ARAY fHE U & Ed WM R S w2

(A) ¥ 29 (B) wmm 30

(C) U 31 (D) "/ 32

TBC : TPTCO-23-BC—C 3 P.T.O.



.................
*e,
"

" - anied by a
6. . Every application for a conductor’s licence shall be accomp

certificate, '
(A) Medical (B) Fitness
(C) Both (A) and (8) .~ (D) None of these |
Wm%mmmﬁ%m .................... mem"ﬂl
(AY A @) fra |
©) (&) sk B) A (D) v wE |

7. Rsvocation ofa conductof’s licence oh grounds of disease or disability is provideq
un.der g | | |
‘(A)‘ Section 32 - (B) - Section 33
(C) Section 34 . (D) Section 35

.mmm%mmmmﬁmﬁmmmmmwaﬁm
& ded fear T T

(A) 3739 32 (B) I 33

(C) 3rqvm 34 . (D) 3TIHM 35 ,
8. Under the Motor Vehlcle Act, 1988, what is the lowest: age for the driver to
drive a transport vehicle, other than a transport vehicle belonging to the Central

Government ? |

(A) 16 years of age ‘ (B) 18 years of age

(C) 21 yeafs of age , D) 22 years of age

ey areq fuf@m, 1988 $?13?f ﬁﬁmﬁwﬁmqﬁa-ﬁwrﬁmm
mmwsmmﬁwmw% 2

(A) 16 od @t Mg VB) 18 5 i sy

(C) 21 =94 %1 a1 @) 22 =¥ ) a1y

TBC : TPTCO-23-BC—C 4



9.

- 10.

TBC : TPTCO-23-BC—C | 5 RO

In terms of road safety, what do you understand by the term “Golden hour” ?
(A) That hour of day in which minimum road accidents take place
(B) That hour of déy in which maximum road acciderits take place

(C) The first hour after trauma in which if proper first aid is given, the accident

victim has a greater chance of survival and reduction in injuries

]

(D) The time during which one can dive at any speed.

TSH W & wed # e aﬂ?ﬂ wlamwm% ?

(&) T T % i Fred TR e wew e O E -

(B) ﬁ?wa@'mfmﬁmﬁwmmﬁ?ﬁ%

(C) m%m‘mﬁaﬁvﬁwﬁﬁmmwﬁmmﬁﬁmﬁﬁﬁ |
3 S @ o S R R st W A R

(D) v W fod < W el o T Y A
Nationai Road Safety Week Ais celebrated every year between :
(A) 'Janual;y 11 to 17 "~ (B) January 22 to 28

(C) February 17 to 24 (D) January 7 to 13

T TeF AT TaE TAF Iu fHees e A W oE 2
(A) 11 9 17 S ‘-"(B) 22 ¥ 28 SHEd

(C) 17'@! 24 HEd (D) 7 ¥ 13 I
| P.T.0.



11. Hazard warning lights should be used .when vehicle is :
| (A) In atraffic jam
(B) Racing v;rith other car‘sv.
(®)) }'Being. dri;zén by a learner
(D). Broken down and ‘causing an obstr_'.uct;iqr_l .
TR FA W e S o A, T A
(A) e < ﬁ a :
®) s T # wa W 4 @
- (C) TwfEm %ﬁ“@ﬁ Ena“ -gm wfaa E
| (D)amm & FRU THES T %’T‘/_. |
12. .Pé;l-India em'ergen_icy nﬁ?nber fof ﬁre, policé. and ambulahcé eté. 1s E
(A) 101 | - (B) 112
(C).100 o D 108 | N |
s, g ol TEdE AR % o Sfew W ST
(A) 101 e |

(C) 100 _ (D) 108
TBC : TPTCO-23-BC—C 6



13. Who is ellglble for free travel on. all types of buses mcludmg Volvo and AC

Buses, within and outmde the State ?
(A) Ex. M.Ps. with one attendant
p (B) Hon’ble M.Ps./M.L.As With one attendant |
(C) Press Correspondénts (State. and Distr;ict level)

- (D) Press Correspondents (Sub-D1v1s1ona1 Level)

w%maﬂzmmﬁmaﬁw et iR T, azﬁm%a R qR A B
T HH T ?

A) @ 'FTRE' T& Hegs & 99
(B) A Wi/ faues TF WerE & e
(C) 3 Warewdl (T iR foren =w)
(D) ¥9 HaReHda (I9-9vSA ®N)
14. What is thé annual free trgvelling limit for Press Correspondents in the

designated category of HRTC buses ?
" (A) 5,000 kms (B) 15,000 kms
(C) 10,000 kms - (D 20,000 kms

HRTC =& #t fiffe do & ¥ dowemalel & fore aifts qw o <o = % 2

?ﬁs,ooo feratex (B) 15,000 forairtex
(C) 10,000 ﬁwfrrﬁzt - (D) 20,000 feraniet

TBC : TPTCO-23-BC—C 7 P.T.O.



15. What is the fare policy for children‘ age

16.

d less than 5 years when traVelling

~ on any type of bus ?

(A) They travel for free
(B) They are charged half of the fare
(C) They' are.charged the full fare

(D) The fare depends on the type of bus'

sm%maﬂg%aﬁrﬁfmwaﬁmﬁwmwmwm
ﬁmam%?" B |

(A)’égqamm% |

(B) ¥ onwn Fer 3 R

(C)é%gnmamam%*”
(D)Ww%mmﬁﬂtm'%'

What is the discount offered to Smart Cai'd'holders for travelling iﬁ HR’i"C

-buses ?.
. (A) 5% concession in fare (B) 10% concession .in fare.
. (C) 25% discount in fare . (D) 30% discount in_fare

HRTCHFﬁﬁWW%WW.mg'@d?ﬁWMWW

(A) 5% T & w2 B) 10% frm §
C) 25% fman § @@ D 30% form # gz

TBC : TPTCO-23-BC—C 8



\

17. Who can .purchase the.égmrﬁim Card for t.‘ravel‘.in HRTC buses ?
(A) Only senior citizens B (B) Genéra].public.. ,
(C) Government employees | (D) Childrén‘ under"5 years
HRTC =& § o & fog womm w1 %m oty @l &2
L ———
(C)mmﬁ (D)sa&aﬁai'g‘ﬁ'ﬁ:

18. What should a driver do when they éﬁcounter’a “?edc_a’strian’ Crossipg Sigh” ?
(A) Speed up to cross thg pedestrian crossing qu'ickl.y
(B) Igﬁore. the. sfgn and contir;ue di'ivihg
kC) Slow down and be prepared to stopA'for_ pedestrians
(D) Change lanes immediately |
WW@“W@W%Wf’WM'W%ﬁ@WMW?
(A) a@@n@ﬁmmmaﬁ%mﬁﬁw
(B) dha @ TR F I gRG FW@ |
(OF i = e tea AT @ fg T

(D) qia o e
TBC : TPTCO-23-BC—C P.T.0.



19. What does 'a: “Yield to Pedestrians Sign” at a crosswalk mear ?
A4) Pedestnans must yield to vehlc]es
(B) Slow down. and yield to pedestrlans in the crosswalk
(C) Pedestrians cannot use the crosswalk

(D) Vehicles can proceed without stéppmg
@Wmm"mamm"mww% ?
()49 W T R A W
(B) ¥ = SR ‘Y wery A W Yo o § (w4 dm
(C) ﬁmmwmﬂ“mw-&x@"ﬁaﬁw%ﬂ
©) et fom % onh 7 T
20. What should you do whgn you encounter a “Slippery Road Ahead” sign ?
(A) Increase your speed to maintain control " |
(B) Keep 'a safe following distz;nce |
(C) Ignore the sign, it’s not important
(D) Change lanes frequently
o el W WY H A W R T won iy 0
(A) fasw T W@ & fa st fa et
(B) TF FUew argerr gt =g W@
(C) Ha Hl TIOR3 H, 9% Teaqul &l ¥
(D) aﬁm' T aqd
TBC : TPTCO-23-BC—C 10



21. ‘Which one is iﬁéorrect ?.
Category
" (A) Public/Private Schools;

(B) Govt. Employees

(C) Gallantry Awards Winners
of Arr_ned Forces

(D) Thalassemia Patients-

ﬁ'—rﬁr e G ¥ ?
Sroft
(A) Tt/ A

(B) mﬂmrﬁ

Facility Provided
Allowed concessional travelling facility
for a month agaiﬁst payment of 40 single
fare (in: ordinary buses). |
Al_lowed concessional travelling facility
for a month against payment of 30 single
fare upto 'a’ distance of 50-kms. (in
ordinary buses) -
Free travelling facility allowed within .
and outside the State (in all type of
buses) A
Free travelling facility allowed within
and outside the State with one attendant

in Ordinary buses.

| wew gfaen :
40 e Fortm B wﬁa‘;aa@tﬁ@q@ﬁ_
%m@ﬁmgﬁmaﬂi(waﬁ

j;'ﬁ)l

(D) & AfEdi A

TBC : TPTCO-23-BC—C

~soﬁq3ﬁ$’t§&w30mm%

YA § we@ § W S fa g Wt
e gfaw & T (R w96 H) |
T T 3R AR g A e
(@t YR @ aE H) .
wwa@ﬁwm%mawa’,

11

P.T.O.



22. What was the.‘initial name of the Road Transport Corp

N

oration formed j,

48 ?
Hlmachal PradeSh after the merger of 33 h111y states in 19 |
(A) Hlmachal Road Transport Corporatlon

(B) Mandi-Kullu Road Transport Corporation

.' _(C) 13 urlJab-Hlmachal Road Transport

- (D) Hlmachal Govt.: Transport

1948 ¥ 33 o T *faera” or"w"ammmﬁmmm

_ﬁmmWwamwm?

(A)Wmmﬁm

«-?(B)/aeﬁt-mmvﬁaaﬁm

23.

'(C)wﬁmamvﬁaa

(D)Fsmaaamﬁtrﬁaﬁ

When did the merger of Himachal Govt Transport and Mandl-Kullu Road

Transport Corporatlon take place resultmg in the formation of H1machal Road

,_Transport Corporation ?

(A) In 1974 © ® mnises

(©) In 1972 DR D In 1970
mmﬁvﬁaﬁm@—mmvﬁaﬁﬁmmaﬁtmm fored e
mvfi‘orﬁﬁ?mwmganf"

(AY 1974 § - . - ® 1965 k

© 19728 D 1970

TBC : TPTCO-23BC—C 12



24. Who is eligible for six free passes in a year for travelling within the State

25.

in ordinary buses ?

- (A) Cancer/Multi-fracture injuries patients

(B) State Awardees Teachers

(C) Hon’ble M.Ps-./M.L'.As with ohe attéhdanf
(D) War widows with one aftendén;c | _ |
aﬁq@aﬁﬁw'a‘?ﬁm.mmaﬁﬁmémézwq‘m%?ﬁ,%?
(A) FH/TER-FAR S @ R 4
(B) T4 Y&ha feres

(©) WW@W@W%WQ

D) TRy faverd @ e F wa

What percentage of the ticket amount will be deductéd if an 9-ticicet is cancelled

within 4 to 12 hours prior to the departure time of the bus from the origih"’ating

station ?
(A) 5% . (B) 10%
(C) 25% (D) 20%

uﬁ@wﬁﬁwﬁwﬁﬁv@4ﬁizﬁé$W§—ﬁﬁﬁmm
% fore @ i A @ fead wom WG SR 2 '
(A) 5% O ® 10%

C) 25% . (D) 20%

TBC : TPTCO-23-BC—C 13 PTO."



26. Which of the follo\ﬁng signs, indica’tes that vehicles with a he1ght above 35
meters are prohibited frqrﬂ entering ?
(A) No entry sign with a .symbql.-Of_v_v?: truck . .
(B) Weight l‘imit sign with a symbol of a truck.'
(C) Height limit sign w1th a symbol of a truck
(D) Length limit sign w1th a symbol Of a tTUCk _ '
- ﬁwﬁf@aﬂamﬁgmﬁsswawaﬁmﬁmﬁm%’
(AVzw 3 fogw HY No entry I ﬁ{'@.’ | |
B) & & fag =& GW Weight limit #1 fag
Crw & fog & iy Height limit i ﬁr@'

D) & & fag & T4 Length limit %1 fag -

27. Which of the following signs indicates that there is a w1ld ammal crossing

ahead ?

(A) Deer crossing sign W1th a symbol .of a deer- o
(B) Elephant crossing sign with a symbol of an elephant

(C) -Cattle crossing sign w1th a symbol of a cow
(D) All of the above

ﬁmﬁf@au@ﬁmﬁasﬁmm%ﬁﬁmwwWw%7
-(A)%m%m%mqummn&;g
'(B)mm%m%mumﬁﬁﬁﬁﬂﬁg
(C)m%mzhmﬂvéwﬁmﬁg

D) ST wh

TBC : TPTCO-23-BC—C 14



28 What is th
© maximum penalty for drunken dnvmg under the Motor Vehicles
(Amendment) Act, 2019 ?
(A) Rs. 10,000 (B) Rs. 15,000
(C) Rs. 20,000 (D) Rs. 25,000

R TG (FRNE) srffrem, 2019%333%%@?@%%@3@%“
WW%7 :

£A) 10,000 %. (B) 15,000 %.
_AC) 20,000 =. (D) 25,000 .

29. What is the new compensation scheme for road accident victims introduced by

the Motor Vehicles (Amendment) Act, 2019 ?
(A) The Act provides for higher cbmpensation amounts
(B) The Act provides for faster compensation payments

(C) The Act provides for a wider range of injuries and damages that are covered

by compensation
(D) All of the above
e T (mﬁ%ﬁ) arfufay, 2019@@@%%@@#@#
gfagfd a1 § 7
(A) afufram S=9 g T WEH F@ T
(B) sfufrm oht @ afql YEE WM FE T
(C) ﬁmmﬁmwﬁﬁmmmﬁ@mmm
w7l @
(D) swgm it |
TBC : TPTCO-23-BC—C 15 P.T.O:



30,

31.

32.

Under 'the Motor Vehicles (Amendment) Act, 2019, what is.th.e maximum penﬁlty
for driving without g licence ? | - |

(A) Rs. 5,000 " (B) Rs. 10,000

(C) Rs. 15,000 - | (D) Rs. 20,600

AR AR (Hhe) aﬁlﬁmq 2019$W;mmﬁ“$mw%ﬁ2
T ¥ 2 | |

(A) 5,000 . ‘ | (B). 10,000 ¥.

(C) 15,000 %. o | (D) 20,000 T

The greatest number less than 900 which is d1v1s1ble'by 8, 12 and 28 is :

(A) 168 . (B) 33
(C) 840 o j‘(D) 494 P,
@ ke W& 900 ¥ FH @ o 8, 12 T 28 q mfaﬁ -@r T
(A) 168 . ® 3%

(C) 840 | D 494

Which one of the following fraction is smallest ?

6 : 19
(A) 1 (B) 36

13 3
(C) 18 (D) 1
1 4 @ sEdt = 9=l ?512’1 g ?

6 19
(A) 11 (B) 36
© T ™ 5

TBC : TPTCL,-ZB-BC—C 16



33 A motorcycle travels 20 km an hour faster than a cycle over a journey of 600

34.

35.

km. The cycle takes 15 hours more than the motorcycle, then the speed of

motorcyclels |

(A) 20 km/h | | (B) 30 km/h

(C) 40 kmh @) 50 kmvh |
eooﬁm"raﬁumﬁqanham ma@q%ﬁzoﬁwﬁmaamm
¥ TEE W AR wEEw A 15 © W A 3, aathamﬁﬂﬁl%

(A) 20 fesftre. U (B) 30 e/,

(©) 40 Fesiye. - O b0 e

How many numbers upto 200 are d1v151ble by 4 and 3 together ?

(A) 12 L (B) 16

©z2 . D 50
mzoowﬁﬁmﬁmﬁ%shﬁa4am3ﬂ@mama% 2
(A) 12 - . . (B): 16 |

(C) 20 . D 50

If the annual mcrease jB rﬁ a}fﬁn is 4% and the present number
of people is 15,625, ther! the population of the town in the next three years
is : ‘ '

(A) 17576 - (B) 17676

(©) 17176 (D) 17876

wﬁqmwﬁmﬁmaﬂaﬁﬁaaaﬁﬁﬁ%amwﬁﬁnﬁaﬂm
15,625%,aaméahaw‘fﬁw_aﬂmmm. |

(A) 17576 . (B) 17676

(© 17776 (D) 17876

TBC : TPTCO-23-BC—C 17 P-.T.O.‘



- 36.

37.

38.

If one-third of a tank holds 45 litre of water, then the quantity of water that
half of the tank holds is :

(A) 225 litre (B) 90 litre
(C) 67.5 litre (D) 75 litre

TR F IH w1 wm 45 e ae e 3, a9 3w B 1A e F wrnit
HET R :

(A) 22.5 &fex (B) 90 ==X
(C) 67.5 &it=x . D) 75 ==X
Mohanlal covers half 'of his journey from Shimla to Mandi at 12 km/h and

the remaining half at 36 km/h. His average speed is :

(A) 18 km/h : (B) 24 km/h

(C) 30 kmv/h (D) 27 km/h

Higdema frmen & wot = 9 1 emwn femw 12 fesi/e. aﬁala@taam%
agr s=1 gT few=w 36 /. | @3 war ¥ suEet ofwa W T

(A) 18 fe=t/4. (B) 24 fe=i/H.

(C) '30 fereii/ . (D) 27 fei/e.

The speed of three cars is in the ratio 1 : 2 : 5. The ratio of timés taken by

the cars to travel the same distance is :

(A) 2 : 4 : 10 (B) 10:5 : 2

(C) 2:5:1 (D) 2:'1:.5

M wEd @ fa F U@ 1:2: 52 FR @ N @ s § w1 go fo@ W
HHE &1 Aq9d ¥ : i

(A) 2 : 4 : 10 (B) 10:5:2

(C) 2:56:1 M 2:1:5

TBC : TPTCO-23-BC—C 18



39,‘ ‘The area. of fectangle having length 24 cm and the breadth 21 cm is :

40.

41.

(A) Aunt

(A) 45 cm s . ' | (B) go,cr'nz

(C) 504 cm? o (D) 270 cm?

‘@Wﬁwm24ﬁtﬁ3m€r€r§2lﬁtﬁ%ﬁﬁm%=

2 ‘ ' .
@ 45 ¥ (B) 90 T2

The diﬁ'erenee betWeen the Ilocalhva.lue. and the face Value of 8 in the 'nume'ral

61845 1is :
(A) 840 ... (B) 808
(C) 792 St (D) 805

’mmsl;sﬁsaewmmmaﬁmmﬁm%

(A) 840 . (B) 808

(©) 792 - @ 805

Pomtmg out to a lady, Rarnprakash said, “She is the daughter of woman who is-

the mother of the husband of my mother Who is the lady to Ramprakash ?°

(B) Daughter | |

(C) Sister (D): Grand daughtef ,
nﬁmﬁmﬁﬁ@ﬁ:@ tmmahw “%wmﬁgﬁ%@ﬁﬂﬁ

wﬁuﬁﬁm%”lm%mmaﬁ%

A) sid . i ® T
(© T | ® W |
TBC : TPTCO-23-BC—C 19-' - - . PTO.



. | at is his rank frop,
42. Nitin ranks eighteenth in the class of 49 Studentsf Wh e

. last ? ‘ |
@3 (B) 33
© 34 | D 32 o
~49wwﬁmm§'ﬁmmwam%lmﬁﬁmw%?
(A) 31 o (B) 33
(C) 34 D) 32

43.

If 4th day of a month js Saturday, then which day will be on the 27th of the
month ? |

(A) Monday (B) _leursday

(C) Saturday - (D) Friday | A .

T TR e e wiER S o ot e w2

(A) HHaR

(B) TEER
(C) wifaRr (D) YRR
71 9 |
The missing number in the figure 97 | 18 | is :
(A) 40 . (B) 36
(€ 54 O 63
21 9 :
Ufeyd §& ¥ ¢
g 27 | 18 i g
(A) 40 - (B) 36
-(C) 564 ' (D) 63

TBC : TPTCO-23-BC—C 20



45.

46.

47.

- (A) Worker

- (A) Worker

the b
On asis of the relatxonshlp between the first two words, t he right Chmce .
for the missing word ip the second pair ?

. Doctor : Nurse :" ? : Follower

is :

(B) Employee

(D) Leader :
mam%m@r%aﬂmm mmﬁmwwﬁw%

Doctor : Nurse " ? : Follower

(C) Union

(B) Employee

(C) Union (D) Leader

(Q. No. 46 to 50) :

A cube of 5 cm length has been coloured black on each surface and then it

has been subdivided into smaller cubes of length 1 cm. Now answer the followmg '
questions :

(9. . 46 ¥ 50) :

5ﬁmémﬁm$mwﬁmww%amM1ﬁmﬁ$
R-BR T § fawfsm fFa ™ ¥ @@ FE v $ SW AR

How many cubes are there with only one face coloured black ?°

(4) 54 B 12

(C) 18 (D) 17

390 ©F T A gL IS 9@ T A Fen fee ¥ 2
(A) 54 | . (B) 12 |

(C) 18 (D) 17

How many cubes are there whlch have three of their faces coloured black ‘?A
‘@we . B8

©4 . o3

S d O g g T A de el & 2
A) 6 (B) 8 |
©) 4 @) 3

TBC : TPTCO-23-BC—C - 2L .. - RTO



48. How many cubes a‘re’tl.lere which have only 'tw_

49. . How ‘many cubes are there whlch have none of thelr faces coloured with any

50.

o of their faces coloureq

black ? o
(A) 20 | | ®) 24
©) 38 o oy 36
Wamﬁawaﬁﬁﬁmﬁﬁﬁ% ?
A) 20 @ 2
© 3 o 36

colour ?

(A) 18 - .' g | ® 27 o
© 26 o s
mﬁ@%ﬁﬁwaﬁmw% ;- ‘.
e - (B) _27‘:" |

©) 26. = (D) 39

How many cubes will be obtained after cutting ' the -original bigger cube of

5cm ?

A) 24 . ® 625

©) 125 o ed

S ql o T A W R WA B AR o g
@A) 24 | - ® e

(©) 195 | | (D) 64

TBC : TPTCO-23-BC—C 22



51. Rohi_;ang_ Pasé 1s located 1n .
(A) Pir Panjal range- ohl | (B). D,hauladhéf rangé. ,
{©) Zanskar range | ‘A (D) Shiwalik range‘.
.. (5) W W Mﬁ L) tﬁanm it #,
o wRaRE ‘(D) fraers A
52 When was Shimla Radio Station set up ?
OB @ 1934
(C) 1955 . (Di 1938
ﬁm?ﬁ e <@ w9 wfw e w2
(A) 1994 F e ®) 19341‘-??
(C) 1955 & LDy --1938#-
53. Which valley of’ H1macha1 Pradesh is known fdr thé- prodpétion of .Ilc;riey'? .
'(A) Chamba Valley . ¢+ (B) Spiti Valley |
(C) Kullu Valley | A (D) Béaé Valley
Wmﬁmwzﬂﬁwmémmm% ?
A) =E HE B) fordt =
(C) =TT T (D) .Wﬂl?ﬁ

TBC : TPTCO-23-BC—C ' - 23 ~ P.T.O.



' : ient perl
.54. Which place was called as Nagarkot 1n anc1enl perif

55.

o6.

iod in Himachg)

Pradesh ?

(A) Chamba (B) Bilaspur

(©) Kullu | (D) Kangra .
mmﬁmmﬁmmaﬁmﬁmﬁmmm o
(A) == | - (B) ToaRH -

©) B v . D) TR .

Who is the. Padma Shri Award 2022-23 winner from Himaclillz:ﬂ Pradesh ?
(A) Dr. Krishan' Lal Sehgal (B) Kedar Thakur :

(©C) Kulbhﬁshan ". (D) Nek Ram Sharma °

femieer Wow ¥ 79 2022-23 1 wEH TR fave A ¥ 2

(A) I FO T g - (B) IR GER

(C) g | ‘/%D) 3% ™ v

Arrange the following districts of Himachal Pradesh from North to'_South.

direction :

(1) Mandi (2 Shimla

(3) Kangra . | (4) Sirmaur
Choose the correct answer from the optmns given below .
@) @, @, @), @ C® @,0),@,q
(©y (1), (3), (), (4) D @), (), 2), @)
mmﬁﬁmﬁf@aﬁ@aﬁmﬁﬁmﬁmﬁmﬁmaﬁm
1 #&@ o @ R @
@) FE e ST @ fod e 5
AR frg o feed § & W@ SR W g e,
A) (1), (2), (3), 4) (B) (4),. 3), (2), (1)
(C) (1), 3), (2), 4) D) (3, tl), (2), (4)
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57. Match List I wity List 11 .

List-1 List-IT
(Dam) (River)
(@) Nathpa-Jhakri @  Beas
) Girinagar (i) Ravi
@) (Chamera: (iii)  Sutle]
(@) Pandoh @) G

Choose the correct answer from the
(@ @) - ©) () -

A 6O G G o)

B) @) @) G) @)

options given below :

O @) @) @ )
D) @ G O G
T 1w g= IR e st

il | B:cil
(@) R .U}
(@ Y-SRl /7 o, @ =™
@) ffmwr - ¢ 7 L @) Tt
@ T G
@ v <! o ) R

Y o T fwed § @ W@ IW BT FA
e e @@

@A) G G @) )

“B) Gi) Gv) @)

© Gi) G 6 G

O G @) @ 6@ o
TBC . .TPTCO-.23-BC——C 25" - I : . PTO.



58. Whlch of the follow;ng are top three districts of H1macha1 Pradesh in District

Good Governance Index 2021 ?

(A) Hamirpur, Bilaspur and Kullu

(B) Kangra, Bilaspur and Una

(C) Hamirpur, Kullu and Mandi

(D) Bilaspur, Mandi and Ha@mur

fSen g =i 2021 ﬁmmaﬁmﬁaﬁmﬁmﬁam% ?
(A) TRYE, faawR R w5

B) =g, fSerEag iR =

(©) TR, He otk A

D) foaEg, #t iR eRK

59. According to HP Economic Survey 2022-23, which is the area of operation of

holdings of Himachal Pradesh ?
(A) 9.44 lakh hectare ’ (B) 23.04 lakh hectare
(C) 44.12 lakh hectare A (D) b55.67 lakh hectare

mmﬁﬁmﬁwzozzzsﬁﬁm %Wu%mﬁq:&rvﬁama‘#
S A= W ¥ 2

(A) 9.44 TME@ TFRIT . (B) 23.04 T TR
(C) 44.12 W& TRI;. (D) 55.67 TrE YR
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0. The per capita i
Come
of State is estimated to' be ¥ 2,01,271 which is more

than the ‘estim
ated
natlonal Per capita income for 2021 22 by %
(A) 44987

--------------

(B) 55675
(©) 51264 |
(D) 62745

wﬁuf‘aaxﬁm - |
Wf%mnéﬁmm%sﬁ%zom 22?=¥»‘1"FT'131'3"'TF"a |

................. 3‘4]‘&‘[31‘ T
(A) 44987 B

) 55675
(C) 51264 D) 62 *
745

61. How . |

many I_nedal.s India won in Asian Para Games-2023 held in China ?

(A) 100 B 107 |

©) 111 | (D) 105

HF T oo i Y @e-2023 F wwa ¥ e wew o ¥ 2
(A) 100 o ®) 107 |
(© 111 . (D) 105
62. Which one of 'fhe water .bodies'separatc;s the Anciaman from Nicobar ?
(A) 11° Channel | (B) . 10° Channel |
(C) Ahdamép 'Sea' | ' (D) Gulf of Mannar
(A) 11° S (B) 10° ¥
(©) qunm | O R EE

TBC ; TPTCO-23-BC—C 27 PTO.



63. Farakka Project is related with which river ?
(A) The Ganga A' (B) The Beas
(C) The Kosi (@) The Teesta
- TRl GREAN w1 Hey R e 4§ 7
SA) - (B) =&
(C) ﬁzﬁ | ' .(Ij) e
64. Arrange the following rivers from North to South of India :
(1) The Beas o (2) The Krishna
(3) Thé Luni _ " (4) The Kaveri
Choose the'co-rre.ct answer from the options given below :
@) @), 3), @), @) | B @ W0 e
(© @, ®), @, Q) D W@, @@
o w7 Freffen A @ IR ¥ < R § sfen iR
1 = o @ 7w |
@ o @ W

R Ru T faecd # 9@ SW w TE HE
@A) (D), 3), @), @ (B ©), @), (1), @3)

(€) 4), 3), (2), (1) . D (), @), (2, (3)'
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& Match List T with 1, I -

List-1
o ' List-II
istri
Sirlet) (State)
tul
(@) Betu () Madhya Pradesh
() Bhojpur (i) Bihar
() Raipur " (i) Chhattisgarh
(d) Anand '

(fv) Gujrat
Choose the correct answer from the optiéns giv.en below :
@ ® © @
A) @) GO  Gi) G
B ® @) G) G
© G & G G
D) @& G @) Go)
1w g IR frem s

U G o LU
(faem) ’ XCu)/
(@) g O
b) W ) fEw
() TR | — (i) DTG
@ g . (v) TR

A g o fawed § @ @@ SW H A FEA
@ @ @ @ |
A) G) @ G )
B) ) @) @) - @)
© @) @ @ G
SRRV () N ) (i) @ii) @v)

TBC . TPTCO-23'BC__C 29 . . P.T.O;



. . the Qinter months ?
66. Which of the following states receives floods in the ’

(A) Assam : (B) Kerala -
(C) West Bengal = | (D) Tamil Nadu
2 T T H e A o ¥ 2
(A) 3 ' B W@
(C) ufrem < - ‘D) S
- 67. Gaza strip is related with :
(A) Black Sea | | , (B) Dead Sea>
(C) Tasman Sea | : (D) Mediterranean Sea
(A) Tl IR 4 .. (B) 4 WR ¥
—(C) T TR J . © pmawa
68. What is the name of Israel Parliament ?
(A) Diet o (B) Majlis
(C) Sejm . . .(D) Knesset‘

zosd &1 fawfge &1 &= | 2

(A) <2 (B) wiferd
(©) wm D) HRe
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69 What is the old namé of Taiwan 9
n

(4) Gold Coast

(B) Persia
(C) Formosa .
(D) Ceylon
R BT T = Y )
Tes HI | :
& —(B) uffm
RITHT o
© (D) diEm

70. Which of the following objects is in motion ?
(A) Sewing machine

-(B) Clock .

(C) Electric fan (D) Sec.ond’s' hand of the clock

Frofefan # S a Tt s § § 2

W R @) W

(C) fawrelt =1 v 4D) R H AT
1. Fill in the blank :

Tara wanted me to write her name, but .....c...coocovecuunnnnce

(A) not of us had any paper to write

(B) neith'er of us have ‘any paper to write on

(C) neither of we had any paper to write '

(D) neither of us had any paper to write on

TBC : TPTCO-23-BC—C 31
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72. Fill in the blank :

73.

74.

75.

If I had submitted th;e form in time, ......couuu.... the admit card.
(A) they wou}d have "issued

(B) they have iséued

(C) they would.have been issued

(D) they had issued |

Fill in the blank :

The bunch of flowers eeeeeeeeesneeeeen beautiful. -
(A) look " (B) looks
(C) are | o (D) d’o not look |

Choose the correct passivé form' of the folquing sentence :

We watched the last r_natch at a cinema hall. -

(A) The last match is watched by us af a cinema hall

(B) The last match has been Watchéd by us at a cinema hall
(C) The last match was watched by us at a cinéma. _halll
(D) The match was watcﬁed by us last at a cinema hall |
Choose the.correct direct form of the following sentenée :
Saniya asked Shankar whether she could accdmpany him,to. the tour.
(A) Saniya asked Shankar if he could a'ccompalny her to the tour.
(B) Saniya says, “Shankar, may I accompany you to the tour >

(C) Saniya said to Shankar, “Can I accompany you to the tour ?”

(D) Saniya interrogated Shankar, “Can’ she accompany him to the tour ?”
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76.

7.

78.

79.

80.

TBC : TPTCO-23-BC—C

Which of th |
e followmg sentences is grammatically correct ? .

(A) Rom is junior than Tanvi.

(B) That plant is bigger ‘then this one.

(C) She is far better than her seniors.

(D) This reply is most aPpropriate than the pfevious one

Choose the appropnate Synonym ‘of the ngen word. :

Extensive
“A) Widespread | | | (B)  Exclusive -
(C) Elite o (D) Narrow

Choose the appropriate antonym of the glven ‘word :

Affirm
(A) Substantiate. : | (B) Verify
(C) Deny - ' (D) Aver

Choose the opfion which can replace the underlined segment in the given

sentence :

After seeing the result he pul]ed a long face.
(A) he cut a joke ' (B) he ’looked gloomy

(C) he smiled broadly , (D) he decided to work hard
Choose the appropriate one word substitution :

That which is not permitted.

(A) Forbidden (B) Impersonate

(C) Impressionable (D)" Obscured '

33 - ~ PTO.



81.

83.

84.

85.

86.

87.

N

82.

S i ' T S A W T W TR B g

A) ¥z3 (B) W
(C) vy | - D) Fa=A
frer & ¥ i = AT oo T Y

A) e - ® [ |
(C) & faw o ,AD) {EEE
P § W TR s @Y 2 "
(A) =y - (B) WY
(C) =ffy - (D) ufGH
e § 4 o IR S| ' O?

(AY sTeariy R '.(B)m
(C) w4t o '(D)Baaﬁsqa
Fre il & HE NG w9 % 2 |
(A) o, + T = TG

| (B) 31'?{:? /MY = Facyia

(C) v + Y9 = ST-1™

(D) ¥4 + 399 = Taww

= 4 @ mewm @& gHa o

A3 - (B) &

C) & . | (D) #

fr #§ @ FFw fadey o w1 g M T R ?
(A) wfy ogeEn : (B) aufsqaw
(C) o T (D) I R
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'88..ﬁﬂﬁ‘mwﬁmqﬁ-%?"
('A)amaz | ) | (Bym
@@ . (@ i

89. ﬁqﬁf@ﬁﬁ'a@amgﬁa.:, |

T e e
©%FF o owm
90. ﬁﬂﬁﬁmmmwmqﬁ%7"
) F= | ® e
oms o
91. W ng@ﬁ@q;ﬁa
() T o (B) T
(O & RN (D) afR

92. In which Artlcle of the India’s Constltutlon has H1nd1 been accepted as the"

ofﬁclal language of Union of India ?

(A) 349 (B) 355 (1) |

(C) 343 (1) (D) 850

i ot & e e A W A e e e

™ ¥ 2
(A) 349 (B) 355 (1)
AC) 343.(1) (D) 350 |
35 ‘ - PTO.
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93. When dealing with an unconscious casualty, you should check up to .............
seconds for normal breathing.

- (A) Maximum 2 seconds for normal breathing
(B) Maximum 5 seconds for normal breathing
(C) Maximum 10 seconds for normal b'feathing
(D) Maximum- 30 seconds for normal breathing

et smie =fm @ W SR =@ T, B R o g
wma:r—ﬁm%m

(A) 9 W9 91 & fau sifusan 2 J=s
(B) 9H 99 o1 @ fau sifyswan 5 Qs
(C) 9\ 99 on &% fau aifuysas 10 e
D) I 99 @1 % fau afusmag 30 s _

94. How many compressions and breaths should you do for each cycle of CPR ?
(A) 15 comf)ressions, 2 breéths | (B) 30 compressions, 5 breaths

- (C) 30 compressions, 2 breaths D) 15 coxripressions, 5 breaths

WRAIR. F 7F o F o o e gEe iR Wi R 2
(A) .15 Hdted, 2 9¥ o (B) 30 Hdted, 5 @ig
(C) 30 ddred, 2 9 | (D) 15 Wite, 5 @G

95. What is the correct sequence for the Primary Survey ?
(A) Démage, Response, Airway, Breathing
'(B) Danger, Response, Airway, Breathing
(C) Danger, Reply, Artery, Breathing
(D) Danger, Résponse, Advice, Back
mafgs AU H WE FA F 7 ?
(A) =fa, afafemar, argani, va™
(B) @, wfafswar, argar, oM
(C) @, IW, e, Tar
(D) @, wfafean, dere, a9
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 96. What is. not a sign of shock ?

97.

98.

TBC : TPTCO-23-BC—C

(A) Pale, clammy gkip
(C) Nausea

(B) Increased pulse rate

‘ (D) Wide eyes and open mouth
WH H AR T 5§ ¥ 5 |

(A) dtelt, fafadt o | B) T R ‘q’k

(C) Wit D) S s ik gen ge
What are the symptoms of third degree burn ?

(A) Charred skin, no pain | (B) Charred‘ sk_in,| 'painl
(C) Blisters and pain (D) Red and pain
o2 ot s & @gw 7= § 2 | o

(&) vl g ﬁéaéaa - (B), Wt @ @, @
©saRE (D) W e

What are the symptoms of Hypothermia ?

(A) Warm and sweaty

(B) Cold and sweaty .
(C) Cold, tired, shivéring and acting abnormally |
(D) Jﬁst very §w¢aty | |
Edafifa & @ = E 7

(A) T T T e

(B) e iR wEiA Al

(C) F= mgwmﬂammammmmm

(D) haw @gd e e
37
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' 99. What is the first thiné .you should do for severe blée_ding ?

. (A) Put the victim in the recovery position |
(B) Direct pressure with clean clpth or hand
(C) Cover ;vith clean clothl
(D) Give oxygen |
WWW%%{QWW@W@WWW ?
A) dfea = g‘—lu'i‘ﬁa feafr 4§ <&

W(B) Wmmma@zﬁmmm—é

(C) A% wHUS | TH
(D) atfdtom § |

100.: What is .the main pﬁ'rp_osel of the.Heimlich Procedul_'e ? 

(A) To femove a Blockage in the yicﬁm’s z.airwa'y

: I(B) To treat the absenée of a victim’s 'breathingA )
(C) To treat an insufficient breathing
(D) To stdp Bleéding aue to. injury _

- ¥ofea wfewan &1 A Red F=W © 2
(a) ifgq & argEr # T W W A F fn
(B) fgq = W A ¥ wH o+ o wE
(C) sToai@ va™ w1 TOS w W fou
D) T T W G T W I D
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